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Answer any ten question from the following.
.10x2=20

Tp# 1

1. (a) State the law of equailibrium utility.
(b) State two exception of law of demand.
Ftftpff cm\

(¢) What is economic rent ?

(d) Differentiate between short run and long run.
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Which is shut down point ?

If the price is fixed what will be the shape of total
revenue curve of a seller.

sflwt cs# (SU&"3 m m iw r

State the condition of equilibrim under monopoly.

Differentiate between average cost and marginal
cost.

mm eftiw mium mmi
What is budgetline ?
mits# ¢¥it nmndnan?
What is shape of average find cost curve ?
mm mim 1%miv?

Comment on the shape of demand curve under
perfect competetion.
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(3)
() What is net profit ?

(m) Differentiate between realwage and money wage,
'stffsfr 'sj'Sjjt W I
(n) Can the rate of interest bezero in economy
Tpiw 1%
2. Answer anyfive question.
CT C T Z&tt "3<T THBI

(a) What is price elasticity of demand ? Draw an
elastic demand curve ? State the factors on which
price elasticity of demand on a point on a straight
lines demand curve what is cross price elarticity
of demand ? 2+2+5+5+2=16

Ffdfft cNir w Wi
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Discuss the features of indifferences curve. Show
that price effect = income effect + substitution
effect 6+10=16

Discuss features of Isoquants ? What is expansive
path ? What is returns to scale ? What are the
types of returns to scale ? Differentiate between
returns to scale and law of variable proportrion.

2+2+6+6=16

C3itr &ri

A ftft?« effete 7"
lwjj<rw  *rt$% t%?
How do you get long run cost curve from the set

of short run cost curve ? What is optimum
production explain the shape of long run average

cost curve. 6+2+8=16
0% "<t CH MWITT K% % r
CfHt Nifl ? 19%?
A o<un Ntrrhi

Discuss the features of perfectly conpetetive
market. How long run equilibrium is attained
under perfect competetion. 6+10=16
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(5)

Nwitre % #i% ? fasten
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What is price discrimination ? When price
discrimination is possible ? How discriminating
monopolist attains equilibrium ? 2+6+8=16

If CAr?
wr? cro "rofihrt
(7TTW3I

Discuss the lonable fund theory of rate of interest.
16

What is quasirent ? What is the realtionship
between economic rent and supply elasticity ?
Differentiate between scarcity rent arid

differencetial rent. 2+8+6=16
stm *nsRt 1%? A Wrchr
ft? MARE
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(6)
® Why is supply curve of labour bends back
wards ? 16

sfcSRT C3ME<KS $ C<R?

Q) Critically discuss the marginal productivity theory
of distribution. 16



